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101. Refractive index of glass with respect to air is 2. Then the critical angle between
air-glass interface is

Kot} 636517 S 72 L Q1o B S EE = 0 L 101

() 30° (2) 31.86°
(3) 45° 4 29°

102. The unit of refractive index is

(1) Degree -(2) Radian
3) ()& (Q2) (4) No unit
LULKSU Ok 102
Radian (2) Degree (1)
S hds @ @) 3

103. The focal length of plano-convex lens is 2R, its radius of curvature is R. Then the
refractive index of the material used is

TR S IR 2 RA_id 5’ u" 2R J+f Weo kst C’ L1 .103

(1 2 2) 1.5
1
G 3 4 1
104. Focal length of the plano-concave lens is when its radius of curvature of

the surface is R and n is the refractive index of the lens
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108. Find the focal length of the lens, if the power of the lens is — 2D

(1) 49cm
(3) 525cm

(1) h=6.626x% 102 ]Js
(3) h=6.626x 10 Js

: ()
4)

(50 (2)
(‘ 55 (4)

~ 106. What is the value of Planck’s constant ?

(2)
(4)

. 50 cmt
55 cm
s’xdif S 19esr — 2D eSS 6/ 108
49 (1)
| F525 (3)

S5 06
h=66.626x 103 Js
h=6.626 x 1073 Js

107. Which rule is violated in the electronic configuration 1s? 2s° 2p* ?

(1) Bohr
(3) Aufbau

i

(2)
(4)

- Pauli
Hund

?%L{Jd}ﬁ_;u;(;d:"kf(gﬂd:@‘&l}'jl 152 25" 2p* .107

g @)
o (4)

AL ()

108. Temperature of a body is directly proportional to _____.
(1) average kinetic energy of the molecules

. (2) average light energy of the molecules

(3) average potential energy of the molecules

(4) average total energy (KE + PE) |
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109. When ice melts, its temperature
(1) increases (2) does not change
(3) can’t say (4) decreases _
a" - Clﬁr -
Lf:JJ'-ﬁ'?— vl 109
dnf” @ &y ()

c-u‘r (4)

110. Find the temperature of a mixture of 30 gms of water at 40 °C temperature and
70 gms of water at 20 °C temperature.

- L-".:ul] J - ):.‘TL dL 70 gms ¢ =7 24320°C JJ'I&k 30 gms g7 24940 °C

?Jyf

oS4 O

(1 16°C (2) 70°C
(3) 24°C (4) 40°C
111. Zn+ HCl—> ZnCl, + H,
Itisa reaction.
(1) Reduction (2) Redox
(3) Thermal (4) Oxidation
Zn + HCl— ZnCl, + H,
- Ju_ wkls
s+ @ TR0
5 @ §17 ()
112. Which of the following will be injected when honey-bee stung ?
. (1) Formic acid (2) Succinic acid
(3) Common salt (4) Vinegar

aJLJ_L:‘.{U’JLHJ; IJJ()' {f-gtf{ JJ';
,‘3'*;\_1-:1!5 (1)
Lk (3)

2 7Succinic  (2)

/_ﬁ'_, (4)
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113. Name the type of reaction, when lead nitrate heated to dark brown.
(1) Electrolytic decomposition (2) Thermal decomposition

(3) Double decomposition (4) Photolytic decomposition

:q.J b"'b?j J lf-fﬂZy;BUIl:fJ Jems¥® 42_./ r‘/ Jo 20 113
Jo¥s @
Jod e @

JodAids ()

Jb’"b/il:qf/._/;n (3)

114. The spoilage of food can be prevented by adding vitamins as preservatives.
:a::..l:'lgkl.lvtfjﬂb-’fuft‘adlé. Lé.'b:c:.d.)fuﬂi(ﬂw 114

(1) A,B ) D,K
3) AK (4 C,E

115. We get diminished image with a concave mirror when the object is placed

(1) at‘C (2) between pole and F
(3) beyond ‘C’ (4) at‘F’
-‘nglar;{ J2 ..,::a‘:..t‘ﬂ:.ssu 11374 J_L_Ju.f“' ¥ .;:if/ﬂ" 115
c)_Lf‘.ué FJ:I.T_,.!J (2) <€ D)

¢F @ Licc (3

116. “Light selects the path which takes the least time travel.”

This statement was given by

) I " »”
..k.!i.. Uk ~ “_q.t':f.rb/u..':.-?:c[ 7 ‘f lu:u" %d[t?lkbud’ s, .116

(1) Fermat (2) Snell
(3) Hygens (4) Newton
MPC/EET |23] Turn Over




117.

118.

119.

120.

In torch light the bulb is placed
(1) very near to focus
(3) at centre of curvature

of the reflector.
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(2) at radius of curvature ‘

(4) between pole and focus

L (reflector)e & SIS AL LAFTA 117
cILBS )

-4ty
Bl @
c)y.ué,bﬁd; it (4)

5, 3

An object of 10 cm in size placed at 20 cm in front of a concave mirror of focal
length 10 cm, then the size of the image formed is

b’dg..,:*-‘gé" g sELidsJ# 10 cm¢&26 20 cm £ET A ty)pE Lo em 118

En s
(1) 10cm (2) Scm
(3) 20cm (4) I15cm
The nature of substance converts blue litmus to red, but no change of colour with red
litmus 1s
(1) Base (2) Neutral
(3) Acd (4) Can’tdecide
':E.JI....‘-'-?J/J,JufJ;é/fﬁ(f@ﬂ;éﬁgﬂ.&ﬁ(f@/lug 119
.:;.J:f:f::‘ ISJ
d5 @ gu ()

Fof o (@) | &7 0

Magnesium reacts with HCI produces gas.
(1) Oxygen (2) Nitrogen
(3) Chlonne (4) Hydrogen

..4:'_.(}:4;}! ....Fn‘:.tlfJ Q:-ﬁf..fn‘uiﬂr e - 120
SrAE () FT ()
S (@) c,fn‘ (3)
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Which of the following is an antiseptic ?
(1) Na,CO, (2) NaHCO,
(3) NaCl |  (4) Na,SO,
:q_.:.-:}"’th_ib» 121
NaHCO; (2) Na,CO; (1)
Na,SO, 4) NaCl (3)

For the same angle of incidence on media P,Q,R angle of refraction is 45°, 15° and
35° respectively, then write the medium in ascending order of velocity.

u!.,;-g;_.d:i,»{,}';,su(ul.écq. 45°, 15°, 35° LAV 9li LU PQR 122
ST LI RN

() R<P<Q (2) Q<R<P
(3) Q<P<R 4) P<Q<R
The colour of the sky appears to an astronaut is
(1) Blue (2) Orange
(3) Red (4) Black ,
:.;_.Q:JUGU:._GUM«T!JI_.N 123
§t o £
e (4) Lr 0

The quantum number, which says about the size and energy of an orbit is

24652 26 i) /:lF/ JL‘I;J:I&'HJ J7 124
(1) n 2) |/ f
(3) m, 4 m

-

This is convex lens made up of three different material. How many images does it
form ? '

*'Z.wdyl i) I-:}.L-@b::.u::{ﬁ uf o S dF = 125

(1 1 2) 4
(3) 2 4 3
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126. Which of the following has high clectronegativity element ? - |
«.(1) Cesium (2) Chlorine
(3) Fluorine (4) Hydrogen

it Ubiii'-:pd-{”&};-?"'gﬁ J_i&n

g5 @) Ex ()
Skt (@) g )

127. Which of the following pair has same properties ? |
i% é:/“’ L’!é.}&_hfp‘ UU:‘,QJ_'_ 3o

(1) Na,K (2) Na,Mg
3) OF | (4) H,Cl,

128. Which of the following is not ionic compound ?

?.‘;.‘_/.‘E;J/Glufdd_i@ﬂ
(1) NaCl 2) AICI,
(3) MgCl, (4) BeCl,

129. Number of sigma and pie bonds in N, molecule

Jfa?f;.ﬁ'};(j;;:lbﬁd LVN,_,
(1 1,3 2 21
3 1,2 : 4) 3,1

130. Octet rule is not valid for the molecule
e irid Ll K62

(1) €O 2 o,
(3) H,0 (4) co,

MPC/EET [26]
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131. Which of the following is correct in the case of overlapping of orbitals ?
Z%é‘fuﬁJ_iﬁ,quLJI:UILJ-"JT 131
(1) S-S>S-P>P-P (2) S-P>S-S>P-P
(3) S-S<S-P<P-P (4) P-P>S-S>S-P
132. The unit of potential difference is
(1) volt (2) watt/ampere
(3) joule/Coulomb (4) All
< 36Si =5 132
/:#I/..‘:.—l: (2) s (1)
F @) Nz )
133. A bulb is marked 70 W and 210 V. Its resistance is
Jn.-:m)-Jm.,.r:.:.-.gy’z-,u 210 Vsl T0 W 4..-1-...{1 133
(1) 210Q (2) 70Q
(3) 280Q (4) 630Q
134. A 100 Q resistance cut into five equal parts and are connected in parallel. The
equivalent resistance is ,
et e Y28 AU e YU LUr? Sy 2217100 Q 134
Sor
(1) 200 (2) 100Q
3) 4Q 4 5Q
135. If the length and diameter of a conductor both are halved, the resistance of the
conductor become
(1) 4times (2) doubled
(3) does not change (4) halved
Jﬁ#i}dldl.‘i.f.jﬁ/ﬁﬂldfﬁwr’uj 138
& @ A (1)
il (8) Sdxdd o
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136. The direction of current flowing in, the coil is shown in the figure, what type of

137.
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magnetic pole is formed at the face of the coil ?

@,

(1) East - (2)
(3) West ' 4)

South
North

9(.{_....43({-? I.'r?'b/(j J/ 4@1& a.u-“;.g@u&;.'y )(G/JJJJ{L;(C{}“]A' 136

O

-2 () 97 ()
JE @ - 0

If the angle between moving charge and magnetic field is 0. The magnetic force
acting on the charge is given by f=

Sl f_:'u"bbvdiﬂd_/f{;l,db’cr Bfl,;l;uyx:ﬁulyu)tvﬂl;td// 137
Sor

(1) qVB SR (2) qVBcos©
1
f (3) qVB Sin 0 (4) qVBtan®
l
| 138. Generator converts mechanical charge to energy.
| (1) Sound (2) Light
| (3) Electrical (4) Wind
| et/ a e PR AT IRE
24 Q) sl (1)
| I (4) &z ©
MPC/EET 28]
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139. generated in a closed loop is equal to the rate of change of magnetic flux

passing through it.
(1) Motional EMF
(3) Motional resistance

' -QJHJ)PLC ;JLUO‘! e d_toi_S LSS

RPN
=21 78

140. Pick the odd one
(1) Galena
(3) Cinnabar

Jok
AN

141. For the purification of Blister-Copper

(1) Poling
(3) Liquation

(2) Induced EMF
(4) Induced resistance

.}lﬁgﬂéﬁ:._fl 139
) S AN TSN
(4) =207 )

(2) Zincblend
(4) Bauxite

25&19(!})’@;}_’}6;: 140

) Lt (1)
@) P 0

is suitable.
(2) Distillation
(4) Electrolysis

4.&0‘-15’ J(Blistcr Copper).,:rJU;T 141

142. The flux used in the extraction of Iron
(1) Silica
(3) Felspar

MPC/EET - [29]

) By
(4) = (3)
(2) Flint

(4) Lime-stone

(ﬂux)rﬁjiﬁ}hL@gJWl;ﬂﬁB, e? 142
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143. The catalyst used in the hydrogenisation of 9il.is

(1) Pelladium (.2)| Sunlight
(3) Nickel o " (4) Molybdenum

S Ui b e LSR8 L 143
(Sunlight) U'e 7 (2) Pelladium (1)

Molybdenum (4) (Nickel) d? (3)

144. On what basis Pauling assigned the electronegativity values ?

(1) Bond energy (2) Bond length
(3) Bond angle (4)  All of the above
A S 308 vl By pid 144
PN () duide )
(Ve @ K (3)

145. Convert boiling point of water at STP into Kelvin
(SLx LM AT 2B LY (STP 145

(1) 373K (2) 100K
3) OK 4) 273K

146. During refraction, which of the following property of light doesn’t change ?
(1) Direction (2) Frequency
(3) Wavelength (4) Velocity

:Jm_)‘.?; L!’_ A ufa.:.'.o::'r‘" J_EGJ:JJ;'(;JU:JLJWI 146

W (2) = (1)
B, @ Lrd? )
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147. A bulb is marked 60 W and 12 V is connected to'a’12 V source, its powerwill-be

Snesud, e Wi2a 12V atmle o 12V 5160 W b L1 147

(1) 60W 2 6W
(3) 06W (4 006W

148. Which of the following undergoes substitution reaction ?

(1) Alkanes (2) Alkenes
(3) Alkynes (4) Both (1) & (2)
:.ia.lmth L;"J;g,-ufd_'_j&n 148
Alkenes (2) Alkanes (1)
U2 (1) (@) Alkynes  (3)

149. CH,-CH=CH=CH,
Name the IUPAC name of the above compound.
(1) Buta2, 3 —diene (2) Buta2,4 -diene
(3) Butal, 2 -diene (4) Butal, 3 -diene
CH;-CH=CH=CH, .149

&V IUPAC K?f s osur

Buta 2,4 -diene (2)
Buta 1,3 -diene (4)

Buta 2, 3 —diene (1)
Buta 1,2 —diene (3)

150. The géneral formula of ketone is

& bLo LK(Ketone) U7 .150

. _
(1) >C=0 (2) R-O-R
r!
1
3) R-C-OR (4) R-OH
MPC/EET [31]
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